
Two photon exchange DVCS Conclusions

Structure of differential cross section (unpolarized target)

σep→eγp = σBH + e" σINT + P"e" σ̃INT + σVCS + P" σ̃VCS

where σ even in φ σINT ∝ ReAγ∗N→γN

σ̃ odd in φ σ̃INT ∝ ImAγ∗N→γN

beam charge beam pol. combination

e− difference −σ̃INT + σ̃VCS

difference none σINT

difference fixed P! σ̃INT + σINT

so that with
only pol. e− need Rosenbluth to separate σ̃INT from σ̃VCS

(different y at same xB and Q2)
unpol. e− and e+ get σINT

pol. e− and pol. e+ get σINT and separate σ̃INT from σ̃VCS
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